Solutions to Quiz 6
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(a) 7TTHROXEDS 2,2,2,1,1,1,1 TH 5 L EEDD—DDHFDXEII VK DD, What is
the degree of the remaining vertex if the degrees of seven vertices are 2,2,2,1,1,1,17
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DARIZDWVTRDORICE 2 &, Consider trees with 8 vertices.

242424+ 1+1+1+1+2=2-7.
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(b) HifdDZEMEZ W73 (FMTH W) K233 HlHdH 2, T o ZKRtE K, Depict three
non-isomorphic trees satisfying the condition in the previous problem.
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ToORITRL, 2 A FEil%2FH S, Find a most inexpensive network connecting A, B, C, D,
E, F, G, H and its total cost by referring to the cost table below.
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Total Cost: 15 units
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